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PSYCHOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. Which among the following are the products in Guilford’s structure of intellect model ?

(@ Systems (b) Transformation

(c) Reasoning (d) Interpretation
Codes :

(1) (a) and (b) only (2) (a), (b) and (c) only
(3) (a), (b) and (d) only (4) (a), (b), (c) and (d)

2. According to Jung, which of the following is the deepest and darkest part of collective
unconscious and contains all of the animal instincts

(1) Anima (2) Animus
(3) Shadow (4) Persona
3. In classical conditioning progress of conditioning can be examined by indexing
Conditioned Response (CR) in terms of
(@ Quantity (b) Latency
(c) Rate (d) Density
Codes :
(1) (a), (b) and (d) only (2) (b), (c), and (d) only
(3) (a), (b), and (c) only (4) (a),(c),and (d) only

4. Which of the following intelligence tests are applicable to an illiterate adult ?
(@ Wechsler Adult Intelligence Scale
(b) Alexander Pass Along Test
(c) Coloured Progressive Matrices
(d) Koh’s Block Design Test

Codes :
(1) (a)only (2) (b)and (d) only
(3) (a)and(c)only (4) (b), (c) and (d) only
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Match List — I with List — Il and select the correct answer by choosing from the codes

given below :
List—1 List— 11

(Variable type) (Example)
a. Artificially discrete variable 1. Neuroticism
b.  Continuous variable 2. Voice pitch
c.  Qualitative variable 3. Gender
d.  Real discrete variable 4.  Admission test results in terms

of admitted/not-admitted

Codes :

a b c d
@D 3 1 2 4
2 4 1 2 3
3 4 2 1 3
4 3 4 2 1

Length and Intensity of Lightwave play an important role in
(1) Perception of colour and brightness

(2) Perception of colour and illumination

(3) Perception of constancy and brightness

(4) Perception of brightness and illumination

Match List — I with List — Il and select the correct answer by choosing from the codes

given below :
List—1 List—11
(Concept) (Explanation)
a. Rods i.  Two optic nerves from two retina join each
other for a short distance.
b. Cones ii. Do not distinguish colours.
c. Blind spot iii. Good detail vision.
d. Optic Chiasm iv. Optic Nerves exit the eyes.
Codes :
a b c d
@ Wi i v
2 i v
(3) i i Y
4 i i v
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10.

11.

Geeta studied for sociology exam and then studied for psychology exam. Certain concepts
and theories are similar in psychology and sociology. While taking sociology exam, she
finds that she keeps getting confused with psychology theorists. Geeta’s problem is most
likely due to

(1) Decay of memory trace (2) Proactive interference
(3) Retroactive interference (4) Encoding failure

Which of the following sequence is correct in case of the curve of forgetting ?

(1) Percent recall of words is greatest immediately after learning — Percent recall

decreases rapidly within the first hour — Percent recall further decreases rapidly
after 30 days.

(2) Percent recall of words is greatest immediately after learning — Percent recall
decreases rapidly within the first hour — Forgetting levels off after the first hour.

(3) Percent recall of words is greatest after two days — Forgetting levels off within
10 - 15 days — Percent recall decreases further after 30 days.

(4) Percent recall of words is greatest after 2 days — Percent recall decreases rapidly
20 days — Forgetting levels off after 30 days.

Consider the following three types of investigations :
(@) Expost facto field studies,

(b) Laboratory experiments, and

(c) Field experiments,

Arrange the above three types of investigations in ascending order in terms of researcher’s
ability to control secondary variance.

D) (. () @) (2) (0), (c). (a)
3) (b), (@) (c) (4) (@), (c), (b)

Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : People often attain their visual experiences after many years of blindness.

Reason (R) : Most of the knowledge of the world had come to them through the sense of
touch.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Paper-I1 6 JA-004-17



8. T % THSTYRA Ht Wi & AU areqed fFa 31X 39E a1g TR S WieT & AU area=
fFaT | TR 3R AU § % SEuRUE 3R fEid 99F € | QeI S ol 3
T 3 AT € R a9 FAifoRE & 39 FagiaeRi w qHSTe o (Eiaer wme W | e
T TR N & HROT H=frad &
(1) WA 1wy #1 &> (2) afq Gl axael
(3) UdEAT e (4) TR I Fedg HE

9. fagfa-ass & amel § fr=faiad & @ 9 91 63 W&l & ?

(1) 1T & AE T HT AR, T % G 915 God 34 el § — A5 & BT U9
TEel B H ds ¥ Heal € — 30 SA7 o 918 A% WA 1 Ui oSt J ged ¢ |

(2) IS B AT T HT AR, T & R a8 GG S4H el § —> AG T BT AT
et 5 W oSl ¥ HISAT & —> U B % 1S o 1 T AT THH & ST ¥

(3) TSI P AR T BT UG &1 &1 o 915 Fad 217 &It € — 10-15 {5 3§ Jo &1 &X
T THHHH & STl € — 30 &7 & 15 315 W@ 1 Aiderd 3R gedr € |

(4) VI P AR W@ H AR &I F AG qAG A B § —> 20 6A T AR @
T oSl | Hed € — 30 AT % 9% 9ot 1 W AT WHE & S |

10. FfeIREd 99 THR % SFET T ORI
(a) TAT-UTE & 31T
(b)  srETeTE T iR
(c) &= wEmT
fgia wawor ot FEld S A STHEUHSRAT S AT % SR SIS A9 TR & STl
TS 31 H SHATET ST
(1) (), (d), (a) (2) (b),(c), (a)
@) (b), (@), (c) (4) (a), (c), (b)

11. freAfafaa &t s — afrme (A) 3] % (R) # uiet 3 9= KT 10 %2 &1 37 #d g
YT 3T T
ATTHUT (A) : T W= 3P N Bl ST o I ST G SIS W B © |
A% (R) : GOR % a1 | e FH 3¢ 91 6 S F U &t & |
*HT:
(1) (A) 3R (R) IHT @& € 3R (R), (A) T T& AT E |
(2) (A) 3R (R) T4 &l &, == (R), (A) Ff el =amen &l & |
(3) (A)TE e, < (R) T € |
(4) (A)Ted §, W (R) Wl ¢ |

JA-004-17 7 Paper-I1



12.

13.

14.

15.

In Pavolian conditioning paradigm the strongest and most rapid conditioning occurs in
(1) Simultaneous conditioning

(2) Trace conditioning

(3) Short-delay conditioning

(4) Long-delay conditioning

Read each of the following two statements — Assertion (A) and Reason (R) ; and indicate
your answer using codes given below :

Assertion (A) : The information processing approach is rooted in structuralism.

Reason (R) : It attempts to identify the basic capacities and processes we use in cognition.
Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Utilitarianism provided the description of of thought and behaviour.
(1) what (2) when
(3) why (4) how

Read each of the following two statements — Assertion (A) and Reason (R); and indicate
your answer using codes given below :

Assertion (A) : Naturalistic observation is a very popular research method in ethological
research.

Reason (R) : Naturalistic observation is free from observer bias.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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12.  OIel i ST Y TG § Faltsh g SN Falys de erey Hefatad § 9 fead
B B € 2

(1) wEFITH e
(2) foeT argee

(3) 3rou-focifad STeE
(4) <E-focifaa sree

13. TF=fatEd 31 FeFr — 3Afyedee (A) 3R a6 (R) i Uiy 3T 9 ST T %t 1 ST R T
3TOHT IR FINTT
ATTHT (A) : IAT THATT 5ZHI0T BT Hol STTEEEE | ¢ |
A% (R) : 98 89K 51 U H FANT i ST ATell gol eToarsti 3% Uishansti of e e i
HITITET HIAT & |

he:

(1) (A) 3R (R) I @&t € 31X (R), (A) F Tl A/ & |

(2) (A) R (R) IHT el €, W 3R (R), (A) F Tt AR Tl & |
(3) (A) Wl g W= (R) ToId & |

4) (A) e & = (R) W2 |

14, SyFITamers § fomm 3T Heaer i % ®9 4 aforq foar T |
(1) = (2) ==
(3) =i 4) =d

15. fferiad 5t et — afwsper (A) 3R @ (R) &1 dfgu iR = 5T 7T %2i 1 39 a6 gu
3T 3T JITC

AU (A) : TTHIAH VeT0T, SR M-k ST H g AU STTEH TS & |
A% (R) : UTH{cTsh JeT0T, Hetsh o A & o g ¢ |

B :

(1) (A) 3R (R) T4 & € 3R (R), (A) T & ARATE |

(2) (A) 3R (R) I Tl &, i (R), (A) H T&t e T8 € |

(3) (A) T T, A (R) T & |

(4) (A) T &, A (R) W& € |




16.

17.

18.

19.

Meaningfulness of verbal material can be indexed in terms of
(1) Associative Reaction Time

(2) Associative Value

(3) Single Response Free Association

(4) Single Response Controlled Association

Facial Feedback Hypothesis supports

(1) Canon-Bard Theory of Emotion

(2) James-Lange Theory of Emotion

(3) Two-Factor Theory of Emotion

(4) Opponent Process Theory of Emotion

Read each of the following two statements — Assertion (A) and Reason (R); and indicate
your answer using codes given below :

Assertion (A) : In some cases people attempt to reach the goal slowly and hesitantly.

Reason (R) : In approach — avoidance conflict, a single goal has positive valence as well
as negative valence.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Which of the following is/are the limitation/s of the survey method ?
(a) Difficulties in obtaining representative samples.

(b) Unsuitable for subjects with low educational levels.

(c) Socially desirable responding.

(d) Can not be used in longitudinal research

Codes :
(1) (d)only (2) (b)and (c) only
(3) (a)and (c)only (4) (a), (b) and (c) only
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20.

21.

22.

Read each of the following two statements — Assertion (A) and Reason (R); and indicate
your answer using codes given below :

Assertion (A) : In cross-sectional research to study development process of intelligence;
age and cohorts are confounded.

Reason (R) :  According to Flynn effect, each successive generation of people is more
intelligent than the preceding one.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Chronometric measurement of intelligence involves the use of which of the following :
(1) Reaction time apparatus

(2) Flicker-Fusion apparatus

(3) ECG Bio-feedback apparatus

(4) EMG Bio-feedback apparatus

Read each of the following two statements — Assertion (A) and Reason (R); and indicate
your answer using codes given below :

Assertion (A) : The individual is left with little or no energy for cathexise (APM) after
satisfying a particular need.

Reason (R) : Cathexis is the investment of psychic energy in the thoughts of objects
or processes that will satisfy a need.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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23.

24.

25.

26.

Network of auditory pathways can be arranged in which of following sequence :

(1) Auditory Nerve — Cochlear Nuclei — Superior olives — Lateral Leminiscus —
Inferior Colliculi - Medial Geniculate Nuclei — Primary Auditary Cortex.

(2) Cochlear Nuclei — Auditory Nerve — Lateral Leminiscus — Superior Olives —
Inferior Colliculi — Medial Geniculate Nuclei — Primary Auditary Cortex.

(3) Auditory Nerve — Cochlear Nuclei — Lateral Leminiscus — Inferior Colliculi —
Superior Colliculi —> Medial Geniculate Nuclei — Auditory Cortex

(4) Cochlear Nuclei — Auditory Nerve — Inferior Colliculi — Superior Colliculi —
Lateral Leminiscus — Medial Geniculate Nuclei — Auditary Cortex.

The tendency for parallel lines to appear to converge on each other is termed as
(1) Motion parallax (2) Ponzo illusion
(3) Linear perspective (4) Aerial perspective

In a contingency table, one of the cell has an obtained frequency of 20 and an expected
frequency of 30. What would be the contribution of this cell towards the total Chi-square
value ?

(1) 3.33 (2) 5.00
(3) 10.00 (4) 20.00
Match List — I with List — Il and select the correct answer by choosing from the codes
given below :
List—1 List—11
(Concept) (Explanation)
a.  Analogical reasoning i. Processes that allow to make
predictions about events/objects.
b.  Deductive reasoning ii.  Using inferences to add new
knowledge.
Inductive reasoning iii.  Using means-end analysis.
Physical reasoning iv.  Drawing valid conclusions from
premises.
Codes :
a b c d
1) i i v
2 i doivo i
3 aii iv i i
4) v i i i
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23.

24,

25.

26.

FIUAT G F Aeah i HEfeiad g 50 O sFaied foar ST dehdT € ?

(1)  =IaoT AR — SHIVTE h5eh! — UIRER SATH —> TeXel AR — AR
HIATRIA — AigTet SHeie <aeis — T 3Hifeedl P

(2) TS HEHR —> HAU AR —> XA AR — AR Mt — AN
FHifcTrIet — Afeae SfHgeie <eers — WMl 3fifeedl HerT

(3) @Y AR —> HIUMET HEH —> leeT ATER] —> AR HARC — AR

FHifcTrIett —»Hfeaet SiHFee Faiz — Jifeedt HewT
(4) IOTET HFH —> FEAU GRAFE — FAMRRI HARA — AT FHARA —> e

o o o T S hy
AHF] — HIsHel vildpeic ~{ais — HllSCR enlcad

T {13 1 AR AR gid Uoiid g1+ 3t T i e ST ¢ |
(1) AT (2) ST wg
(3) YEm U (4) e uRvie

T STERTSRAT RO (F2ISTEr 296T) H Ush Hif¥ThT i WTieh Mg 20 3 3TufeTa 31gia 30 & |
U7 TSR God H T IR I AR T R 2

1) 333 2) 5.00

3) 10.00 4)  20.00

gt — | & g — |1 % 9 gferd ST 2R FAfafad $2t & Tanm #Xd g0 el ST 1 9g-
T :
= - | = -

(Tuea) (=are=)
a.  IG¥IAsE d% i,  fshar ST geATeT / Seqe % AR
H YaaH XA o S el g |
b. frmaE ii. T S &q SRS 6 ST
TR TR iii.  TeH-|TeR fovettT 6 I
TEIRE TH iv. STER-aTRT ¥ 9y fsRy e
%
a b c d
@ i i i v
@ i i v
@) i v i
@ ivoodii i



27. Match List — I with List — 11 and select the correct answer by choosing from the codes

given below :

List—1 List— 11
(Concept) (Explanation)

a.  Cortical Mosaic I Cortex is constantly being excited or
inhibited depending on what the organism is
experiencing.

b.  Dynamic Stereotype ii. Extinction that occurs after a previously
excitatory CS is repeatedly presented without
reinforcer.

c.  Conditioned Inhibition iii.  Tendency of organisms to attend to and

explore novels stimuli that occurs in their
environment.

d.  Orienting Reflex iv. Events consistently occurring in the
environment come to have neurological
representation making the responses rapid
and autonomic to the familiar environment.

Codes :

a b c d
@ i i iV
2 ioav i il
(3) i v ii
4 v i i

28. Match List — I with List — 11 and select the correct answer by choosing from the codes
given below :
List— 1| List—11

(Concept) (Explanation)

a. Drive i. A state of deficiency or excess of something in

the organism, the fulfilment or elimination of
which is essential for survival and balance.

b.  Yerkes-Dodsan Law ii. A state of psychobiological readiness that
motivates the organism to act for the
fulfilment of need and reduction of tension.

c.  Power Motive iii. The level of arousal beyond which
performance begins to decline.

d.  Need iv.  Tendency or capacity to produce intended
effects on the behaviour or emotions of other
persons.

Codes :

a b c d

(1) i i v

2 i i v

(3 i v ii

4) iv i i
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217.

28.

Gl — | & g — || o |1 Gferd ST SR fEfeiad %t & Tai wXd g¢ el S & 9a-

FHIAT :
= - |
(Vwea)

a. doHdd HIEH

b.  Tide® TR

C.  STIaTYd WeRtg

d. SHEHR ufdad

Gl — | & g — || o |1 GAfeld ST SR fefeiad %t & Tai wXd gC el S &l 9a-

ETE
a b c d

@ i il i iv
2 i iv i i
(3) i v i i
4) v i i i
FHifoTT

= - |

(3raremom)
a. IdqE

b. THE-SeE AT

C.  TIfeRT STIROT
d SATRIAT
H:

a b ¢ d
1) i i v
2 i oivi
(3 i ivoi ii
4 v i i

= - 1

(=arE)
qope Tad T G AT Al NI T TeRiTed
2T el § 39 9 W R @A gu fF g &
3V Hd § |
TR STSEINCT STaTd 33aeh i ATg &
TEe & IR-aR WA fohAr ST dr STetad
YR T foeild &t ST € |
ST 3 270 TAERT § IO B aTet T ekt
% 3TENUT SR 3 T &I hiv5d B bl UG |
TERTT H 9Ad g arelt HeAret i aiedsh |
yiaftee & S § S aRemaEy Hetad
TR 3T dilel T Sterd 81 S § |

= -

(sarE)
Stig H foRdt oS @l wET AT omiyem W et
oraen QT A1 foeles STReitaar R Sqe %
foTT smereae & |
UF TANTaERE aoRdr ® ferfd stosiia @
JMATAHAT ! U 3R TAE HH FA % [0 F
X I TR A & |
ITEITH 1 TR ek 9eam o § fRmae o
T E |
T AT % FeR R A& W AT T e
A D TG STET 7T




29. Match List — I with List — 11 and select the correct answer by choosing from the codes

given below :
List— 1| List—11
(Concept) (Explanation)
a.  Syntelity I. Dynamic source trait with an
environmental origin.
b.  Self-sentiment ii.  Description of traits that characterize a
group.
c.  Metaerg iii.  Causal relationship between Ergs,
sentiments and Attitudes.
d.  Subsidiation iv.  The most powerful sentiment which
organizes the entire personality.
Codes :
a b c d
L iv i i i
2 Qv i
) v i i i
4 iioivoodi i

30. Read each of the following two statements — Assertion (A) and Reason (R); and indicate
your answer using codes given below :

Assertion (A) :  Minor frustrations will add upto produce considerable frustration but not
to aggression.

Reason (R) : Disruption of goal-directed behaviour usually leads to frustration.
Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.



29. e — | B gEl — || % Wiy GAferd HiTg AR A KT T w2l § 9 W@ 3w g

= - | = - 1
(ST G dcaay)
a. T ey (Refereh) i, TEEeRUE @ Wfed Tt
It TRt
b. WM ii. UF ol @ v S o
TIE i foreir S € |
c. Heram iii. om, TANEl 3 gfewon &
dre At dey
d. SeHSEwH iv. Y VISR AT ST ST
ST BT FHIOT FRAT T |
L T
a b c d
@ ivodi i i
2 i ivoi i
@) v i i
@ i v il i

30. TeAfeIREd qF et — SRR (A) 3R @ (R) i 9T 3R A9 ST T el 1 STFT Hd &Y
3T TR T

AU (A) : DIl EARME TSI AR § F€T aF Il & T SThHDAT § el |
qF (R) : e SFaeR | g™ g 92 W w7 € |

B!

(1) (A) 3R (R) I & € 3R (R), (A) T & ARTE |

(2) (A) 3R (R) A & &, W (R), (A) & Tt &A1= 6l ¢ |

() (A)Wre, W (R) T & |

4) (A 7o 8, W (R) W& |




31.

32.

33.

Which of the following are not nuclei of Thalamus ?

(@ Internal Lamina

(b)  Anterior Nucleus

(c) Ventromedial Nucleus
(d) Paraventricular Nucleus
Codes :

(1) (a) and (b) only

(3) (c)and (d) only

(2) (b)and (c) only
(4) (a)and(c)only

Short-term memory holds information for

(@ 50 seconds (b) 30 seconds or less
(c) more than 60 seconds (d) between 50 and 60 seconds
Codes :
(1) (c)only (2) (a)only
(3) (b)only (4) (a)and(d)
Match List — I with List — Il and select the correct answer by choosing from the codes
given below :
List— 1| List— 11
(Concept) (Explanation)
a.  Horizontal-Vertical i Our eyes turn inward toward one-another in
illusion order to see close objects.
b.  Atmospheric ii.  What we perceive often is based more on what
perspective goes on in our mind than what is in front of
our eyes.
c.  Convergence iii.  Tendency to perceive objects high in our
visual field as more distant.
d.  Figure-ground iv.  The farther away objects are, the less distinctly
they are seen.
Codes :
a b c d
1) i i v
(€2 H T T TR VAR
(3) i v ii
4 v i i ii



31.

32.

33.

Fefeiiad | & i 91 ST T 1 higeh! Tel & ?

(a) 3RS geet
(b) awrEe P

(c) daTHlETA F5eh

(d) WEfeFTR F5h
HT

(1) e (a) 3R (b)
(3) e (c) ¥ (d)

(2) char (b) 3R (c)
(4) e (a) #(C)

TeehITeT Tgfd | Ffaad sty & foe gumr 3% et €

(a) 50 TFUS

(c) 60 TFHT T AfFH
%!

(1) (o)

(3) e (b)

(b) 30 TFUT AT FH
(d) 50 31T 60 GHvE F o

(2) %o ()
(4) (a3 (d)

i
= - |
(3rererToT)
a. AfqoorEed v\ .

b.  SATERONT Ry i
c.  HETYEYAT iii.
d. - iv
B

a b c d
1) i i v
2 i v
(3) iii v i i
4 v i i i

Tl — | & gl — || o |1 G SHie SR FEfefad St s TEnT R g¢ Jel ST B 9ae

=t - 1

(=)
fehe T S % ToTT 2Rt 3ifd Ush-gEY & SR 3T
TE gedl ¢ |
UTT: B S F ol TeeToT X § 98 SN S o WE S
FT ol BT & ST 3TUET e 3Teh ST D FAN ATk |
= TET BI & 39 W MR FAT & |
TR gftee | So ferd ageli ® sTuenda s T W
T o T
FEIE Mol e T Bt ¢ Sl 8 HH TRl o |
fead & |




34. Read each of the following two statements — Assertion (A) and Reason (R); and indicate

your answer using codes given below :

Assertion (A) : Participants of a study were shown novel geometric shapes that served
as targets. Then they were shown fragments of these shapes. Participants
were quicker to recognize the fragments as part of the original target.

Reason (R) : We do not use Gestalt principles in our everyday perception.
Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

35. In problem solving if you follow rules that reduce the number of operations or allow you
to take short cuts, you are using :

(1) Algorithm (2) Heuristic
(3) Strategy (4) skill

36. Anticipation Method can be used in
(@ Free Recall
(b) Serial Learning
(c) Verbal Discrimination
(d) Paired Associates Learning
Codes :
(1) (@), (b) and (c) only
(2) (b), (c) and (d) only
(3) (a)and (b) only
(4) (b)and (d) only



34, frAfAfad gt el — 21y (A) 3R % (R) & Uieq 3R =9 ST T $f &1 SUFT R g
3T ITR JAT
AHe (A) : TF 319 § e oiaren 1 909 S SThidar i@ w2t st &7 of |
TATATT 3¢ 37 SMHAAT & Ihe [KE@ T | 79 § &l oHaret @ = 3 el
T o6 o feed & ® H STURTH T4 oShl & T&=HT |

T (R) : 89 IS Teae1or § 9eiee fagid &1 v T8l #d € |

e

(1) (A) 3R (R) I W&t € 3T (R), (A) F Tl A7 |
(2) (A) 3R (R) IH Tt €, g (R), (A) i Tel = Fal & |
(3) (A) Wl &, = (R) T & |

4) (A) e & = (R) W2 |

35. TEET SHYME H, At 3 U T 1 9o R & e |ishar s 9 9 st gt € oTen
3T 'UE Heq' &+ Sl T Mot &, aF 2 TR & WA ©

(1) herary (TeiRgH) 2) o
(3) ToFIE (4) B

36. A A H T B S Esa e |
(a) HFT TERA
(b) st atfmm
(c) e wewE
(d) IFad FeaX et
?C :
(1) T (a), (b) &R (c)
(2) fad (b), (c) &R (d)
(3) o (a) 3R (b)
(4) fa (b) 3R (d)
jaoo417 2 Paperll



37. Gestalt Psychologist Max Wertheimer attempted to train children to think in a logical and
systematic way where he used several figures such as

(@ Squares and rectangles
(b) Parallelogram

(c) Triangles

(d) Circles

Codes :

(1) (a) & (b) only (2) (b)and (c) only

(3) (c)and (d) only (4) (@), (b) and (c) only

38.  Which of the following sequence describes the energy mobilization in body ?
(1) Fasting phase — Absorptive phase — Cephalic phase
(2) Cephalic phase — Absorptive phase — Fasting phase
(3) Absorptive phase — Fasting phase — Cephalic phase

(4) Fasting phase — Cephalic phase — Absorptive phase

39. According to Bandura, which of the following cognitive mechanisms are adopted
by a person to act contrary to his or her moral principles without experiencing
self-contempt :

(@ Moral justification

(b) Dehumanization

(c) Displacement of Responsibility
(d) Diffusion of Responsibility
Codes :

(1) (@), (b) and (c) only

(2) (a), (b) and (d) only

(3) (b), (c) and (d) only

(4) (), (b), (c) and (d)



37. TR TAIfOT, U SR1EHT 3 o9l ol difsheh 3R Hared ¥ § 9o & g uieiierd & &
T TohaT STt 3781 3Tah STThiaal b JINT foha el

(a) =T 3R 37

(b) TR TG

(c) P

d) ==

T

(1) fa% (a) 3R (b)

(2) fa (b) & (c)

(3) fa® (c) 3R (d)

(4) % (a), (b) 3R (c)

38. fr=fcifaa & © =i 91 9 IR | Sl GUEUT i <9 & ?

(1) SYATE TUT — TFTNHUT TROT —> Hh{cTh =]

(2) THfcTeh TROT —> TR TROT —> IYAT TR

(3)  STARNUT TUT — IYATH TRIT — TehfeTsh aX0T

(4) 3HATE TT —> HHcTH TROT —> STARITHUT TRT

39. g & AR, MH-FREBR 1 39 bt o T fendt =afert g1 o7 Aifdes fagidt & faeg w
X % AT FAfaiad | i | FHTCHS o (Hohi-oH) 37O ST € 2

(a) e siifee

(b)  STFER ST

(c) wreee =t foreamo
(d) =TI % qER

%!

(1) % (a), (b) 3R (c)
(2) e (a), (b) R (d)
(3) e (b), (c) ¥R (d)
4 (@), (b), (c) @R (d)




40.

41.

42.

In Guilford’s struct of Intellect Model, obtained abilities have been named in which of the
following sequence :

(1) Operations, contents, products
(2) Operations; products; contents
(3) Contents; operations; products
(4) Products; contents; operations

Read each of the following two statements — Assertion (A) and Reason (R); and indicate
your answer using codes given below :

Assertion (A) : Differences between intelligence levels of monozygotic twins are
attributed to environmental influences.

Reason (R) : Monozygotic twins have identical genetically determined reaction range.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Match List — I with List — Il and select the correct answer by choosing from the codes
given below :

List—1 List— 11
(Explanation) (Concept)
a.  Remembering meaning of words, i. Sensory memory

properties of objects.

b.  Helping information to be brought ii.
back to mind when it cannot be
recalled spontaneously.

Semantic memory

c.  Remembering specific experiences of iii.  Retrieval cues
the past.

d.  Retaining representation of sensory iv.  Episodic memory
input for brief periods of time.

Codes :

a b c d
1) i i v
(€2 H T T TR VAR
(3) iii i i iv
4) v i i i
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40. TToTRs % g TEAT Ufaed | AT Fradrett o A § 9 o6 s | AT fREr w2

(1) dfshar, Toes, SR

(2) dfshaT, IR, HEH

(3) TEE, HihAT, SR
(4) 3, FESH, WishaT

41. FreAfefad &t oAt — e (A) @i ad (R) &1 ufen @i 9= K e %2l 5 suh e g
AT I I
ATHU (A) : T FHAST SIEat Teal o o Jieg o WX Hl S TATER0NE T o FHROT &Il & |
A% (R) : U ST S[eat deal § GHE S (Heifa ufafswar o gt & |
T
(1) (A) 3R (R) I @&t & Tq@m (R), (A) H Tel A=A 7 |
(2) (A) 3R (R) I el €, Al (R), (A) T Tt AR Tl 7 |
(3) (A) Tl g, wifh (R) Tod & |
(4) (A) 7o g, AT (R) TR & |

42, gt — | S g — || 3 Qe AT T 3R FfeRad fel 1 UEnT HRd §T el SR B a9
FHifeTT ;

= - | = - 1
a. TSI % 37, SIS % T Bl AT HEAT i et wgfa
b. S @dTHd TIH I ROM A T M@ B Al ii.  vresre favas Wi
39 femmT § 9§ T8 AT
c. odd & fafere sTvet S A1] FHAT ii. AU wH % GEy H
Hoha
d. 9 999 & folu Gesl e9e & ufdfrae iv. g gid
T T
E T
a b c d
O Y
@ i Qi v
(3 i i iv
4 iv i i i



43. Information in short-term memory enters long-term storage through
(1) selective attention
(2) elaborate rehearsal
(3) learning

(4) information-processing

44. Read each of the following two statements — Assertion (A) and Reason (R); and indicate

your answer using codes given below :

Assertion (A) : A neural membrane is double-layered.

Reason (R) : Lipid molecules turn their tails toward each other.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

45. The inputs from our sensory receptors are structured by
(1) Selective principles
(2) Gestalt principles
(3) Analytical principles

(4) Learning principles



43,  FTeusHIcTsh Wid St GaAT Srehicors G § fefeiad o Hream & wereT il &
(1) =T 3
(2) forer qatarE
(3) ™

(4) o= A

44, TrfafEd 5wl — Strw (A) #RaE (R) F 9fet X A9 KT 1T 2 s i g
3T 3T JITC

ATHY (A) A WA | &1 W el § |

% (R) : RS 310 (W) T T 1 3R 70T Io g9 € |
HE

(1) (A) 3R (R) 3 Wl € &R (R), (A) ' Tel AT |

(2) (A) 3R (R) 3 @&l &, @i (R), (A) i T =amen 7@ & |
(3) (A) e &, Wi (R) Toid & |

(4)  (A)Tor &, 7R (R) Wl € |

45. EHN Goa! HUEH ¥ U 3ATH T W e € |
(1) =F-Ters g
(2) TR fagia

fa (oS
(3) ToRAYUHS [H5Id

(4) et fagia
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46.

47.

48.

49.

50.

Instructions for Questions 46 to 50 :
Read the following paragraph and answer the five questions which follow :

A researcher working in the area of human intelligence wanted to develop a new
verbal test of intelligence. For this purpose, he wrote 200 objective multiple-choice items.
Each item had four alternatives, one of which was right and the three remaining ones were
wrong. He administered this initial version to a sample of 400 subjects. Using P, and P,

as the cut-off points, he obtained two groups — Low Scoring and High Scoring
respectively. The item difficulty index and the item discrimination index were computed
for each of the 200 items. To assess whether each item significantly discriminates between
Low scoring and High scoring groups, appropriate statistical significance tests were also
employed. This item analysis process retained 150 items. The final version of 150 items
was administered to a fresh sample of 750 subjects. The appropriate measures of internal
consistency reliability were obtained. The test norms were developed using normalized
T scores (mean = 100, SD = 20) and the Wechsler type deviation 1Q scores. To assess the
dimensionality of verbal intelligence, the researcher also carried out the factor analysis of
item scores.

Which one of the following test of statistical significance can be employed in the above
study to evaluate whether the item significantly discriminates between the Low scoring
and High scoring groups ?

(1) Chi-square (2) Point-biserial correlation

(3) ttest (4) Biserial correlation

Which of the following reliability coefficients can be computed in the above study to
assess the internal consistency ?

(@ Odd-even reliability coefficient

(b) Kuder-Richardsen reliability coefficient

(c) Cronbach alpha coefficient

(d) Interscorer reliability coefficient

Codes :

(1) (a)only (2) (a)and (c)only

() (a), (b) and (c) only (4)  (b), (c) and (d) only

For the above test, what is the expected percentile rank for the T score of 120 ?
(1) 60 (2) 68

(3 75 4) 84

For the above test, a T score of 80 would correspond to the deviation 1Q of

(1) 68 (2) 80

(3) 85 (4) 115

In the above study, which type of correlations can be employed to carry out the factor
analysis of the test items ?

(1) Biserial correlations (2) Phi coefficients

(3) Point biserial correlations (4) Rank order correlations
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46.

47.

48.

49.

50.

W9 HEAT 46 | 50 & feTT o e9r
TfeiEd TR i TgeRT =il ST 0 Ofe e 9 IR ST

AHE gfg % §F H FF FXA a6l U SHEUHSAl 90 FHR & Hifgd g TeTor o
FershTae SheAT Tl &1 | 38 WA | 3T 200 SRS Fgfahedid g (U9 [ | Ueish w8 &%
IR faesheq &, S8 @ T W@l 91 3R 99 dF Tord 9 | S8 39 TR UIS (ast) i 400 fawat
% T H A | W, R A, I S SY & GHE-HH 3% U S At 3T
31iye 31h W 3 9ol WE W §U | Wedish 200 WA o {oTT Ue FHieAte askh 3R U9 3’
GEH I AT D T | TH I BT GoATh B & [T o Fedsh HE HH 3 Wl A a1l 3T
31iyes 31k U & aTet TRl H 3R < W@l off, Ifad Wifersha aiietor off 6 e | 39 W,
fargetoror vfshan & 150 9% off | 150 W&l & 3ifqw a== & 750 fowat & 9T F9= et fpw MU |
3NdNe adar fovaa-adr & sfod Amge ur T MU | gigd T 3f (@ = 100,
TTE. = 20) 3R AR UHR & [qUF 31ME.HY. T WA FH G0 I faehiad T mT | Hitgs
g & ST T TeAich F & T ST % T9-37h 1 R favetsor «ff fwar |

T ST BT SAhe B & [T b 7 7S S 375k W i ool 31 31Ty 37eh T & et
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T ST feham ST Hebell & 2
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(a) TH-Taum forwargraaT ot

(b) X =S fomaaHaT s

OREGEEEEIRIIED

(d) T faeaEHTE onsh

%!

(1) e (a) (2) e (a) 3R ()

(3) ke (a), (b) 3R (c) (4) e (b), () AR (d)
SWIe T & feAT 120 T Ureies & forw erafera srawes Sof s/ € 2

(1) 60 (2) 68

(3 75 4) 84
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(1) 68 (2) 80

(3) 85 (4) 115
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